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Assumption 1: there is an infinite number of commutators

=> modeling may be done from the circuit
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Two basic equations for this circuit
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When the circuit is connected in series

{ Vaic + Ve =V

I,=1;=1
dl
L — =V — RI — FE
Then At

- L=L,+L;
R =R, + Ry
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Mechanical balance of the load:

dw,
J — em. B r o T
di A

E=K 10 f)w,
Where i
{ Tem — m,2¢f(lf)la

Assumption 2: the motor is operated below saturation
Assumption 3: Ideal efficiency in energy conversion

¢p(1) = Loyl
Km,2 — Km,l
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Finally the model is

g =V — RI — LafIwr
‘0 = LayI® = Bwy = T
y=1

K, Ly s denoted L,



